EEsT (BHAD-ERET

LR FEET T FEE

= — Hk & K 5F B (m)
E2) # B | BEER [ F3 (asET i BT B3 TRE
gy 710423 710
m3
HEMAREIT (Wyoihg) £ BAL 88.803 88.803 88
Nyhiky 11F50.28m3
m3
HEEEE 63.745 63.745 63
m2
HWAREIT (W) T BHY 604635 | 16.985 621.620 621
Ny 1LF50.28m3
m3
s 494,446 494
m3
BRI AER T (Wyoh9+ AN FEED) 81.548 | 1.081 82.629 82
MAL nyykD 1LFE0.28m3
m3
B ABRT (Wyoho+aun #EEoH) 399217 /12.600 411.817 411
AL nyyk) 1UFE0.28m3
m3
BELMB G~ REEE~FH) HE5H 948
m3
FHE BT (4t-2tF8 k) 62.202 62.202 62
YUYy AAERR TR
+AT®E DIDXREEL m3
F4 BT (4t-2tFEHR) 471446 15.185 486.631 486
YUYy AAERR R
TKETE DIDXRIEL m3
FEA-R) 533.649_|15.185 548.834 548
INRAE (RFELLSY)
m3
F 4 BT (4t-2tFEHR) 533.649_|15.185 548.834 548
YUYy AAERR TR
+AT®E DIDXREEL m3




EELT (BAED-ERET LB FEE FE TE# P.2
ES Tt TR 8 m
E2) # B | BEER [ F3 (asET i BT B3 TRE
BELPE 161.587. 161
(B~ REEE~ )
m3
FHE BT (4t-2tF8HR) 26.601 26.601 26
Y7y MiERR TR
+AT®E DIDXREEL m3
FHE BT (4t-2tFEHR) 133188 | 1.798 134.986 134
Y7y MiER TR
TKETE DIDXRIEL m3
FEA-R) 159.789 1,798 161,587 161
1 £50,000m35k
m3
FHE BT (10t5E#Hk) 159789 | 1.798 161,587 161
Y7 My 10tHERR LR
+ATZE DIDRRIEL m3
159.789 | 1.798 161.587 161

EEFgAELTNNE
BEL

m3




FEsT (BRRD-EMHT LB FEE TE  FEE P.3
] ] = — Hk & K 5F B (m)
E2) # Bfy | BuE Hi BT HRIER TRE i
ERE =& 520413 520 520413 520413
m
HIVP 1 11 1 26 10 21 94 94 470.000 470.000
RREE
100 X 5.0m PN 5.000
HIVP 9 9 9 42.500 42500|t1ERE
RRE &
100 X 5.0m PN 5.000
HIVP 1 1 1 7 7 3.598 3.598
RRA™V}45°
¢ 100 & 0514
HIVP 1 1 5 5 1.925 1.925
RRA'VN22 1/2°
100 & 0.385
HIVP 1 1 2 2 0.650 0.650
RRA'VN11 1/4°
100 & 0.325
HIVP 1 1 3 3 0.885 0.885
RRAVM5 5/8°
100 @ 0.295
HIVP 1 1 5 5 0.400 0.400
RRiEI 3279k
100 @ 0.080
FhEL 1 1 1 0.290 0.290
F-A (&)
$100% ¢ 75 @ 0.290
FhEL 1 1 1 0.165 0.165
IV EE
100 @ 0.165
B IEE R 29 29 29
(RR#)
$100 18
BRI S R 4 4 4
(RRIEZWEIZY7yMA)
100 @
BEEEECVERGT 520 520 520
100 m
EEEEE VBN 14 14 14 DERE
100 [m]
EEELE - VERRBMF T 94 9 10 130 130
100 [m]
MZhVF 2 1 3 3
u]
29 4 33 33




ExLT (FED-EHMBT FEy . FEE R % P. 4
= Tl EREm
% B | BEE e R EHE
Y7 RHEREILE =N 2200 2z
m
VBB CVERET 21 2.700 2.1
PR 200mm m




FEsT (BRRD-EMHT

LB FEET T FEE

£ L7

Hfy

HAR

%

Bk i B (m)
e s

EER

#5

IIVORFH
75 RF

#

TKAZERH
278 HHK
675

TKAHERFTR
25EE A

ERFAKE
(€330

A28

| (AR - h5—187R)

#

ERAAELLY VR YIR
(RB 6050 (A))
a3

7525 H=200

ERAAELLY VR YIR
(RB 6050 (B) )
P EpEE

7525 H=100

ERAAELLY VR YIR
(RB 6050 (B) )
P EpEE

7525 H=200

ERAAELLY VR YIR
(RB 6050 (C) )
TEREE

7525 H=200

ZERFRAERVY IVE VIR
(6050 (P) )

H=40

AR KRS

ERFHRE

@15

17V EEET

He

KIE
75

B

o

130 EEET

&

o

£ 54

biihivass

]

HINEEILZIL
17kg/ &
=14% (25kg)

Ly Ay ) - R I RER B
a8
| #7225 H=200

Ly vavy) - R I RERE
hEREE
| #7225 H=100

Ly Ay bR I RERE
hEREE
| #7225 H=200

Ly vavy) - R I RERE
TEREE
| #7225 H=200

Ly Ay - R I RERE

B hi
25 H=40




EELT (BAED-BEMERT LB FEE FE  TE# P.6
_ _ ] = 3T EREHEm
E2) # Bfy | BuE i BT B3 EEER o=
ST 512500 512
m
BEHRT-7 (F/KER) (512.50+512.50/5.00 X 4 X 0.114 X 7t X 1.5) /20=36.637 36.637 36
RIFHHRE
50mm X 20m * AEEFT/A 1EIF%E
ERRT-7 470,000 |42.500 512.500 512
KiKBATRE XinBARAE
100 m AR/ A 1ESE |
FHr—f 520413 520
m
A - (FKEM) 520.413/50=10.408 10. 408 10
¢ 150mm X 50m 2£& b
HHRY-b 520413 520.413 520




EELT (BAED-EEBT LB FEE FE  TE# p.7
ES Tt TR 8 m
E2) # Bfy | BuE i BT BE EEER
DR 520413 520
m
BMERT 40778 40.778 40
PR #EET (RA)
m3
B AER T (Wyoh9+ A FEED) 81.941 81.941 81
R nysky 1LF§0.28m3
m3
BERE 2700 27
BARERT 0.500 0.500 0.5
BAY79777U(RC-30) BT (3 A)
m3
IR AER T (WVyoh9+ A W iEED) 1.400 1.400 1.4

RC-30 n'y7iky LU1E0.28m3

m3




Exs T (FED-ERIHAT LB FEE FE  TE# P.8
= B EREm
£ i Bfy | BuE i BT RIER EEER o=
PRt 409,850 409
m
TNIEAR B8 (B HE T-BHO.28) 381,694 381.694 381
PEHIZR2.0mL T
m
TIIRAR T B ($HHE T-BHO.28) 9.006 9.006, 9.0
fEHIR2.5mEL T
m
TIIRAR T B (B4 HE T-BHO.28) 14.000 14.000 14
fEHIR3OmLL T
m
TIIRAR T B (BHHE T-BHO0.28) 5.150 5.150 5.1
fEHIZR3 5T
m
TUSSARETN : :
F-o
TLIRIRER 42 42 42
1E333mm {£&2500mm
6015 =]
TLERIRE R 30 30 30 IEREEAARI DA
1&333mm £ E3500mm
6015 =]
TUERIRE R 30 30 30 BRI DA
1&333mm £ 4000mm
1545 =]
TUERIREARH 60 60 60
1&333mm £2500mm
®
TUERIREARH 60 60 60
1&333mm £3500mm
®
TUERIREARH 15 15 15
1&333mm £4000mm
®




Exs T (FED-ERIHAT LB FEE FE  TE# P.9
= Tl ERIEm
£ i By | BuE BT RIER EEER o=
ERLEZRITIN L !
k- o
TLIERILER 46 46 46
110~120 x 120~ 130 X 3000
4% 8
TLIERILER 30 30 30 SAEREEAAM 1H A
110~120 x 120~ 130 X 3000
4% 8
ThRERILESR 46 46 46
110~120 x 120~ 130 X 4000
27 =]
TLIERILER 30 30 30 SAEREEAARM 1 H A
110~120 x 120~ 130 X 4000
27 =]
TLIKEYE-MEH 45 45 45
450~650
67 =]
TLIKEYE-MEH 30 30 30 SAEREEAARM 1 H A
450~650
67 =]
TLIKEYE-MEH 30 30 30 SIS REEAM 1 HA
590~900
2+9=47% =]
FEHXKENVIEH 46 46 46
AUHREI5~19L
15 =]
TR LE AR 4 8 8
110~120 x 120~ 130 x 3000
p:
TSR LEAR 2 4 4
110~120 x 120~ 130 X 4000
p:
TIIKEYF - EEAREE 6 12 12
450~650
p:
TIEIKEYF - EEAEE 2 4 4
590~900
p:
FEIHKER V7 E AR 1 1 1
SR E15~19L
L
[=]




LB FEET T FEE

BT (FAHD-BREIKET
ES Tt TR 8 m
£ bai Bty | BEE it HH SRIE TEE
Bk E 16 16
A
Y7 BT (FRHIKE) 16 16 16
EEBREEK hUTBRIE
=]
1 1

FU7 R - AT BIEIKETD)

55




Wik T-#AT k- T PRy FEET TE  EEE P. 11
_ _ = Tl ERIEm
E2) # Bfy | BuE BT BE TRE
M8 -4 1 1
ER T (RAEH) . 1 1 1
$HIL1EIUR—I & 200 {un —pE
T
avh)-Mavy)-+I) 0,108 0.108 0.108
m3
EHBIT {on—bDH) 1 1 1
T
avh)-Mavy)-+I) 0.056 0.056 0.056
m3
#AIvUih— ERR 1 1 1
15 900 NEL
18
fASIvUR- 15 EEfTTEE 1 1 1
1% ¢900mm H=1,800mm
18
#AIvUh-)L R 1 1 1
18 ¢ 600 % 900 X 450mm
18
vk EEE 1 1 1
15 ¢ 900mm H=900mm
@
fAsIvk-I FREEYVY 1 1 1
£Z£E5H#E $600mm H=50mm
18
fALvk-I REYVY 1 1 1
FEHE $600mm H=100mm
18
vk EEEEE 1 1 1
FEHE H=45mmET
18
RIEME U Ik-ILE&E 1 1 1
$600 t-14 BRERY
#8
fHILvUR-LEIFLE 1 1 1
15 1BEER 100
T
AL vUR—ILEIFLE 3 3 3
15 1BEEMA ¢ 200 ~
517




IWik— TRV T

LB . ZEET TE

LEHK

£ L7

Hfy

HAR

Kkt

F it B (m)

%

T
i

EER

Wih-VARESH#F

HRERN VN34T REARE()7)E 6200

HOLEKT
#AIL 18 Uk-I VU-PRP ¢ 100

LI

m2

0.308

0.308

0.308

HOLEKT
#AIL18vUk—-I VU-PRP ¢ 200

R

LI

m2

0.407

0.407

0.407

IR NERET
15(PE900mm)
MH=3.0miZ % ~4.0mLL T

PhEXIZHT

CIE I +UHtAR+HRM17 51748
(t=0.7mmiL L)

B

m2

3.90

3.90

3.9

TEREAL
CH N F i+t 7 5B
(t=0.7mmpl L)

X

m2

0.74

0.74

0.7

13-
hBFIZEMLT
CIE I+ +il3am 1751 1EE
(t=0.7mmLL E)

m2

0.28

0.28

0.2




Wik T-#AT k- T PRy FEET TE  EEE P. 13
_ _ = Tl EREm
£ # Bfy | BuUE BT BRI EEER
Mu3EvoH-A 1 1
$AIvVih—) ERR 1 1 1
35 #1500 SNEL
18
fASIvUh-) 35 EE{TITEE 1 1 1
1% ¢1500mm H=1,500mm
18
#AIvUh-)L R 1 1 1
35 900 x 1500 X 300mm
18
ATk EEE 2 2 2
3% ©1500mm H=1500mm
@
fAsIvUk-I FREEYLS 1 1 1
3% »900mm H=150mm
18
wh-REEE 1 1 1
FEZ25mmET
18
BT AT 1 1 1
$900, 600 t-14
FLERIE MER #A
IR EIFLE 2 2 2
35 7 ERA G200
T
Wk T &S F 2 2 2
HEIRN VNI4T REIRE()7)E ¢ 200
18
IR NERET 1 1 1
35 (N#E1500mm)
MH=5.0m#Z X ~6.0mELF 538
GESIEL R ]
CHE 1%Vt +iam 17 311EE 19.92 19.92 19
(t=0.7mmil L)
=3 m2
FFERIZEMT
CIE I +UMtiR+as 1751748 0.64 0.64 0.6
(t=0.7mmEl L)
& m2




INMI-ERiIT

LB FEET T FEE

= Tl EREm
£ i Bfy | BuUE BT B3 EEER i
7274 59
m3
JI9NT 3.50 3.50 3.5
m3
HWIR BRI (Wyoko+aun #E ) 1.55 1.55 1.5
FAL n'vsiky 1LFE0.28m3
m3
RELMBFE~REEE~TE) L
m3
FELTMS T EHEXIIH) 1.72 172 1.7
m3
FEA(L-R) 1.72 1.72 1.7
INRAE (R LAY
m3
F4 BT (4t-2tFEHR) 1.72 1.72 1.7
YUYy AAERR R
+AT®E DIDXREEL m3
RELPEFE~ L5 1) 1859 19
m3
HE TS T ERER I 19.53 1953 19
m3
BRRETNNE 19.53 1953 19
eE L
m3




MR T ARy REBTRULT LB EA T FHH P. 15
£ i By | BME > e HH B %E i gé‘%ﬁ
a0 AL AL & 1=
BB~ ) EASTB G20 6992,
m
EAREITFEAA T GEEIEA ¢ 250060 F) 1.990 1.990 1.990
'r—wi:;r?im& ) 2000mmﬁﬁ5?§8mlal'|:
L5 phEE N<5 m
EAIREITFAA T GEEIEA ¢ 250061 F) 0.150 0.150 0.150
'}'—"/77*:'?;():% 0] 2020mmﬁﬁ557<‘8ml&l-|:
|t & -5+ 5<KN=30 m
EAIREIFEAA T GEEIEA ¢ 250060 F) 1.505 1,505 1,505
;-%l?;fé‘(ﬁ% d)éOOOmmﬁifi;?ESml&l-F
73 N=30 m
EAIREITFAA T GEEIEA ¢ 250061 F) 2.750 2.750 2.750
T—Yuh TEUE ¢ 2000mm3IL i FE8mEL T
TE MBS N30 m
T=YuyEERT 2 2 2
=Y BEUEE @ 2000mm
T
r=yuy' 5| LIf T (IZENE AHE) 0.9 0.9 0.9
=Y BEUEE ¢ 2000mm
m
L P/k ¢~ 1 1 1
=Y BEUEE @ 2000mm
T
ﬁkta')aa? 0.909 0.909 0.9
It
t
BEI0Y—F I L
/72
%Hﬁ:wu—rﬂ%&: 31 3.1 3.1
2000
m3
EAREIHE : .
/72
BHMRERET 1 1 1
GRERIM I, BBEAH)
F=YVy R UE ¢ 2000 [




THI-ARN— I REBAIRULET LB FEE FE  TE# P. 16
, ) ES Tt EE T8 m
£ bai By | BuE HH HRIER TEE i
- ) FFik 55 55
m
F Sl VEER AT B 1 1 1
¢ 2000
18
SR 55 5.5 5.5
2000 t=12mm
m
HRy-200HE ! ’
£
REgr—vuy B 1 1 1
2000 FRFA150E
[l
THkE ! L
/72
Shk#KkT 1 1 1
BT
BT ! ’
/72
AFALAET 1 1 1
BT
FIERBEEE R (8t8) 1.2 1.2 1.2
SEIEREEE StE
m3
FiRNS B 12 1.2 1.2
K
m3
FERL I I ’
Ik
BIGFHE R - R RER 1 1 1 @0.909t
&l




T -REET LB FEE FE  TE# pP. 17
ES Tt EE 8 m
£ i Bfy | BuE BT BRI EEER B =
FTH 1 1
#
AREIRZELT 1 1 1
IR TR () 2000LL )
T
AREIREBET 1 1 1
IR E TR () 2000LL )
T
AREIRER 1.0 1.0 1.0 RAERIIHARKI1HA
BREEE ¢ 2000
A
ARE TR 1 1 1
BREREE ¢ 2000

L34




HHEI-SENET LB . TER FE  FE# P.18
= — H & K 5T B (m)
£ # B | BEE [ T [azar] I i % BE EEER
L2737/ 4 1058790 1.058
m
EE 1041200 10.300_ _7.290 1058.790 1058
TAI7 I MEEERR . 15cm LT
m
LRI 417157 417
m2
SALRRBE R T (W R EIEIEA - TR ) 407.740) 5407 _4.010 417.157 417
TAI7IWAEHEERR . 10cm LT
m2
I 20860 20
m3
FEME T (4t-27E4R) 20.390, _0.270] _0.200 20.860, 20
FUTMIvY 2tAER TARITIEER
DIDX &L m3
BREIEMLSE 20.390| _0.270|_0.200 20.860 20
TRITMNE
m3




HHEIT-SEEAT LB FEE FE  TE# P. 19
= — H & K 5T B (m)
£ # B | BEE [ T [azar] I i % BE TRE
TR 416627 416
m2
T EERAE (HEED) 392,270 5407 _3.480 401.157 401
RC-30 t=100mm
m2
T EER AR (HEED) 15.470 15.470 15
RC-30 t=300mm
m2
LB 416627 416
m2
L FEERAE (HEED) 407.740|__5.407 _3.480 416.627 416
M-30 t=120mm
m2
=5 416627 416
m2
®E 407.740,__5.407 _3.480 416.627 416
BEBHETAIV(13) t=30mm
m2




wveone T TERSET HEFHEE P.1
+T TBT WET
ER | Y| F | BER | EIB | EEIE| EHIE | BRS | E#E - #RL - 1:TTE 22825
I . iﬁ'f;j R | 785 | shszTEny #ERE|  GRAL) mus| B | EEGR| EEGR| TS | FAS | TAS | TAS | AR |4Ruin| mewen| Mo | e MEEE| MEEIE| HEw 0| Hee e seee
i pig
TR HEE | HgeE _ 1.5miBZ | 20miBZ | 25miEZ | H=2.0m [ H=2.5m | H=2.5m| H=3.0m| H=3.5m| As As WAT | #As |HERE| RC-30 | FHAs |HEHE| RC-30
o o +BuL| LBHY A% | BRSY | EEEED | B5ER
L d H t1 H1 w 20mELT| 25mIA T | 30mEATF| 1B 1 2B% 2B% 2B% | =15emBlT | e=10emB R t=3cm [t=12cm|t=10cm| t=3cm | t=12cm [ t=30cm
(m) (m) (m) (m) (m) (m) (m) (m) (m) (m3) | (m3) (m2) | (m3) (m3) | (m3) (m3) | (m3) (m) (m) (m) (m) (m) (m) (m) (m) (m) () (m3) () (n) () (n) (m) (n)
No.P1 1.27 1 As
HE | 7-a—1 1.499 0.550( 1.449( 0.935( 0.314
No20+520.6 1.30 0.050( 0.250
No20+520.6 1.30 1 As
HE | 7-a—1 63.700 1.464 0.550( 1.414 0.900| 0.314| 49.539 35.035| 7.007| 24.525| 3.504| 6.847| 14.538 127.400( 35.035| 1.752| 35.035| 35.035| 35.035
No20+456.9 1.20 0.050( 0.250
No20+456.9 1.20 1 As
HE | 7-a—1 3.700 1.424 0.550( 1.374 0.860| 0.314| 2.796 2.035| 0.407| 1.343| 0.204| 0398 0.854 7.400| 2.035| 0.102| 2.035| 2035 2.035
No20+453.2 1.22 0.050( 0.250
No20+453.2 1.22 1 As
HE | 7-a—1 15.000 1.424 0.550( 1.374 0.860| 0.314| 11.336 8.250| 1.650| 5.445| 0.825| 1.612| 3.461 30.000| 8.250| 0.413| 8.250| 8.250| 8.250
No20+438.2 1.20 0.050( 0.250
No20+438.2 1.20 1 As
HE | 7-a—1 33.500 1.414 0.550( 1.364 0.850( 0.314| 25.132 18.425| 3.685( 11.976| 1.843| 3.601 7.748 67.000| 18.425| 0.921| 18.425| 18.425| 18.425
No20+404.7 1.20 0.050( 0.250
No20+404.7 1.20 1 As
HE | 7-a—1 39.700 1.574 0.850( 1.524 1.010( 0.314 51.427 6.749| 27.333| 3375 6.816( 13.596( 39.700 39.700 79.400| 33.745| 1.687| 33.745| 33.745| 33.745
No20+365.0 1.52 0.050( 0.250
No20+365.0 1.52 1 As
HE | 7-a—1 35.300 1.789 0.850( 1.739 1.225( 0.314 52.179 6.001| 30.755| 3.001 6.061| 11.380| 35.300 35.300 70.600| 30.005| 1.500| 30.005| 30.005| 30.005
No20+329.7 1.63 0.050( 0.250
No20+329.7 1.63 1 As
HE | 7-a—1 40.000 1.829 0.850( 1.779( 1.265( 0.314 60.486 6.800| 36.210 3.400 6.868| 12.745( 40.000 40.000 80.000| 34.000| 1.700| 34.000| 34.000| 34.000
No20+289.7 1.60 0.050( 0.250
No020+289.7 1.60 1 As
HE | 7-a—1 64.000 1.834 0.850( 1.784 1.270( 0.314 97.050 10.880| 58.208| 5.440| 10.988| 20.362| 64.000 64.000 128.000( 54.400( 2.720| 54.400| 54.400| 54.400
No20+225.7 1.64 0.050( 0.250
No20+225.7 1.64 1 As
HE | 7-a—1 60.000 1.909 0.850( 1.859( 1.345( 0.314 94.809 10.200| 58.395| 5.100| 10.302| 18.669| 60.000 60.000 120.000( 51.000( 2.550| 51.000| 51.000| 51.000
No20+165.7 1.75 0.050( 0.250
No20+165.7 1.75 1 As
HE | 7-a—1 81.000 1.744 0.850( 1.694 1.180( 0.314 116.632 13.770| 67.473| 6.885| 13.907| 26.452| 81.000 81.000 162.000 68.850( 3.443| 68.850| 68.850| 68.850
No20+84.7 1.31 0.050( 0.250
No20+84.7 1.31 1 As
HE | 7-a—1 15.000 1.504 0.850( 1.454 0.940( 0.314 18.539 2.550| 9.435( 1.275| 2575 5.236( 15.000 15.000 30.000| 12.750| 0.638| 12.750| 12.750| 12.750
No20+69.7 1.27 0.050( 0.250
No20+69.7 1.27 1 As
HE | 7-a—1 46.694 1.674 0.850( 1.624 1.110( 0.314 64.456 7.938| 36.118 3.969| 8017 15554 46.694 46.694 93.388| 39.690| 1.985| 39.690| 39.690| 39.690
No20+23.006 1.65 0.050| 0.250
No20+23.006 1.65 1 As
HE | 7-a—1 1.306 2144 0.850( 2.094 1.580( 0.314 2.325 0.222| 1.532| 0.111 0.224 0.378 1.306 1.306 2.612| 1.110| 0.056 1.110| 1.110/ 1.110
No20+21.7 2.21 0.050( 0.250
No20+21.7 221 1 As
HE | 7-a—1 2.000 2.439 0.850( 2.389 1.875( 0.314 4.061 0.340 2.848( 0.170( 0.343| 0.522 2.000 2.000 4.000( 1.700( 0.085( 1.700( 1.700( 1.700
No20+19.7 2.24 0.050( 0.250
No20+19.7 2.24 1 As
Weh| 7-a-1 1.500 2.469 0.850( 2.419( 1.905( 0.314 3.084 0255 2.174 0.128 0.258 0.388 1.500 1.500 3.000| 1.275| 0.064| 1.275| 1.275| 1.275
No20+18.2 227 0.050 0.250
INEE 502.400 88.803|565.048| 63.745| 78.454|373.770| 39.230| 78.817|151.883|381.694| 4.806 217.694|164.000 1.306( 3.500 1004.800| 392.270| 19.616|392.270|392.270|392.270




weso T TEHET HBHEE

P.2
T T8I MET
ER | Y| Ty | BIR | BB |EEE| EES | BRS | 65 - #RL - 1.8 28825
I . fﬁ"ﬁj MR | 5| AR ®EEE|  (RAL) Bins| BHE| BER| BHE| BR | B8 | 88 | B8 | 88 |95 sewe| SE00S| 95018 5118 #5018 #5008 #5008 MEEE
1 s
TR HEE | wELE _ 1.5miBZ | 20miBZ | 25miEZ | H=2.0m [ H=2.5m | H=2.5m | H=3.0m | H=3.5m As As WHT| #As |#IBE| RC-30 | FAs |H#ERE| RC-30
o - TaHL| tBHY AR | BRSY | HEERD | 53R
L d H t1 H1 w 20mELT| 25mIA T | 30mEATF| 1B 1 2B% 2B% 2B% | =15emBlT | e=10emB R t=3cm [ t=12cm|t=10cm| t=3cm | t=12cm|t=30cm
(m) (m) (m) (m) (m) (m) (m) (m) (m) (m3) (m3) (m2) (m3) (m3) (m3) (m3) (m3) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m3) (mi) () (m) () (m) ()
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i+ I 1.55 1.55
G=v) K3
S8R0 1 $2000mm t=12 1 =2.4m N 1 2.4 1
=) | 92000mm t=12 1 =2.4m i 1 2.4 1
&=y 1 $2000mm t=12 1 =0.7 m n 1 0.7 1
Bes&hr=vur | ¢ 2000mm t=12 I
=) | $2000mm t=12 1 =2.0m U 1 1
&t ZN 4 5.5




WELr—vs ) KLU ¢ 2000 mm (FEEHEAN)

H£itE (3)

mH | Bl o] o1 ] | P
AL S ES &P 1 1
DS l 2 2

LT Y D IR m 6.3
=y WEERE m 1. 455 1. 455
=y YR /i 12. 10 12. 10
A)7y7" t 0. 909 0. 909
HmE L |H%%Iw @%%mmml @| 1 1
St IH T [RIEIH

[E]

zEL AR EET A/ (13)  t=3cm | m2 3. 48 3. 48
AR T PR A (M-30)  t=12cm | 0 3.48 348
TlEE T |HAEMA (RC-30)  t=10cm N 3. 48 3. 48

[RE]

ES =N PRI T 22y (13)  t=3cm | m?2
LERART KRG (M-30)  t=12cm [ »

T/ T

AR (RC-30)  t=30cm




THEELIMT - BIR LT (F@)

I & | % % g
S ) HU®ZE = 2000 m
SHEAK=2nr - tan(180° /n) n %, r o FE
L= 2 x 8 x ( 2200 / 2 )x tan(180° / 8 ) = 7.290 7.29 m
(RETNE+0.200)

SRR EiE=n - r’-tan(180° /n) n: %, o HE

A= 8 x (220 / 2)% x tan(180° / 8 ) = 4.010 4.01 m?

(FEU1%+0.200)

HE{REIR A= 4.010 —  0.820 2x /4 = 3.482 3.48 m®




¥ = F B &
No.
A 5] 29 Bl #% &
SEHURTE T (No. Pl SEHD) FEIEOME ¢ 2000 mm
t= 12 mm ENEE ¢ 2066 mm
FE M ¢ 2090 mm
s URES UEASEHIFEA T) m 6.195
JE AR Il 6.395
SEYIGE I 5.245
Flikk I 0.900
+HHEEE HEE 1 (N=5) 0.440 +0.950 +0.600 m 1.990
U (5<N =30) 0.150 I 0.150
WE + (N=30) 0.450 +1.055 I 1.505
) (30<N=50) ) -
B 1 (N=30) 2.750 I 2.750
I (30<N=50) ) -
&t m 6.395
BHAE UL T [ERL]
EREEEIMT T | t=5cm Opll oz [0 I - U L T.(3am) | 1D) m 7.29
SRR T | t=5cm (33 [ s b - FiUgE L T.(3658) 1 10) m” 4.01
FESRAL Sy As 4.01 X 0.05 m’ 0.20
Ay 2.090 ° X x/4 X 6195 - 155 X 1.11 m’ 19.53




No.

4 i B e HAL) ¥ &
SRR ) — M m® 3.1
AT A MRLER T kAL & m® 1.2
M E

SegAr— ) é 2000 mm t= 12 mm = 2.4 K 1

=y $ 2000 mm t= 12 mm = 24 U 1

=) 6 2000 mm t= 12 mm = 0.7 I 1

R =) » 2000 mm t= 12 mm = 2.0 I 1

& &t ZN 4
AIVRES {5 AT 1
A % F 2

1P Y VIR e R m 6.3
-y kR m 1455
=BGk E 12.000 X 7o 4+ 1.455 X4 m 12.1
A5 HE
(=D 1.455 X  0.615 t/m t 0.895
(EE) ( 0.206 4+  0.10 )2 X /4 X 0.0942 t/m2X T ) 0.014
G ( + )% X /4 X 0.0942 t/m2X & BT u

t 0.909

M7 Tk 6 2000 mm/H ] 1




B

%

=
No.
g PR B = Hir| % &
HHAEIEIH T (RAE1H) (iR
KIET PR SR 7 A= (13) t=3cm (B34 [ B T - gL T G@) 150) | m? 3.48
FREEAET  RERA (M-30)  t=12cm m” 3.48
TEEET [HAERMA RC-30)  t=10cm m” 3.48




oA ECRELHERE)
No.
4 R A 2 Hir | %% &
(No. Pl 37H0) MO ¢ 2000 mm
t= 12 mm A NEE ¢ 2066 mm
HE M ¢ 2090 mm
HERLES r— T m 3.745
— % 1.50 — 0.250 I 1.250
IR AL S iiE u 0.250
Sr— TR 7o bhar ) —kh
ARl Vi= o 2,066 2X /4% 3.745 = 12.55 m’
Peg|l vol= -1.81 "2X 1 /4% 0.15 = -0.39 l JEERR
V22=  -1.75 72X /4% 1.500 = -3.61 n Rk ey 2 (1)
V23= -1.75 2X n/4X  2.095 = -5.04 no| ERE(T fE)
(3.745-0.150-1.500)
V24= -0.206 2X ©/4X  0.158 X 2 = -0.01 I PRP
V24= 292X /4% X = n
m’ 3.50
— AR R L i+
ARl Vi= o 2.090 2X /4% 1.250 = 4.29 m’
PERR| V21= —1.75 2X 1t /4 X 0.905 = -2.18 no| EEE(T fE)
(1.500-0.295-0.300)
v22=—( -1.75 "2+ 114 "2)X /4% 0.300/2 = -0.51 no| RkEE (T FR)
V23= —1.14 "2X /4%  0.045 = -0.05 I FRER)
m’ 1.55




